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    Q 1. Fill in the blanks : 

a. The answer in subtraction is called ____________. 

b. On adding one to a number, we get the __________ number. 

     Q 2. Solve :  

  

 

 

 

 

 

 

 

a. H T O 

 8 0 5 

+ 1 2 3 

    

b. H T O 

 3 8 2 

+ 2 6 4 

    

d. H T O 

 9 0 0 

- 7 5 0 

    

c. H T O 

 5 6 9 

- 3 8 8 

    



     Q 3. Tick the correct option : 

a. 269 + 548 = _____ 

i. 818                                    ii. 817                                iii. 820 

b. The difference between the largest 3-digit number and the smallest    

3-digit number is- 

i. 899                                    ii. 900                               iii. 109 

Q 4. State true / false : 

a. On adding 20 to 90, we get 110.     (     ) 

b. 4 cats will have 20 legs.     (     ) 

     Q 5. Complete the series : 

a. 3  x  9  =  __  -  14  =  __  +  88  =  __  

 d. 6  x  6  =  __  -  20  =  __  +  12  =  __ 

 

     Q 6. Match : 

                                

          a.                                         5  x  9        b.                      2  x  6       c.                     6  x  5  

                                   6  x  9                                 2  x  5                               4  x  6 
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    Q 7. Word Problems : 

    i. There are 365 days in a year. A school has 214 working days. For how   

many days is the school closed in the year? 

     Sol.  ________________________________________________________ 

             ________________________________________________________ 

             ________________________________________________________ 

             ________________________________________________________ 

           

   ii. Rohan has 479 marbles and Raj has 500 marbles. How many marbles do 

they have altogether? 

     Sol.  ________________________________________________________ 

             ________________________________________________________ 

             ________________________________________________________ 

             ________________________________________________________  


